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> var.test(x1,x2)

F test to compare two variances

data: x1 and x2
F = 2.1627, num df = 9, denom df = 9, p-value = 0.266
alternative hypothesis: true ratio of variances is not equal to 1
95 percent confidence interval:
©.5371854 8.7070383
sample estimates:
ratio of variances
2.162705

> t.test(x1,x2, var.equal = TRUE)
Two Sample t-test

data: x1 and x2
t = -1.7929, df = 18, p-value = 0.08982
alternative hypothesis: true difference in means is not equal to @
95 percent confidence interval:
-36.703845 2.903845
sample estimates:
mean of x mean of y
218.6 235.5
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1 1 1 V1 45
2 1 2 V2 37
3 1 3 V3 38
4 ) 1 V2 50
5 2 2 V3 53
5 2 3 V1 40
7 3 1 V3 43
3 3 2 V1 41
9 3 3 V2 41
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T (x) |1 2 3 4 5 6 7

e (y) |4 68 99 142 166 211 260
Ore g T3 £ X BAFRI A SR 2 f B fFa o (15 4)
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